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= & = LR nglii: iﬂa}' . (%}) N (%}) B (A -B) = = e
4330 2 AlZeldl 0 550,000 0 550,000 600,000 250,000
4331 A=Y 0 150,000 0 150,000 140,000 10,000
4332 2 Al ZHI 0 400,000 0 400,000 460,000 260,000
4400 W=2IHIE 30,000 1 0 30,001 30,300 2299
4420 JIEtw =2 30,000 1 0 30,001 30,300 2299
4421 &L 30,000 1 0 30,001 30,300 2299
<Fz=a
<Fz=a
Edl SE3 82 S
4500 M =3 500,000 0 500,000 0 0 500,000
4510 8 &=3 500,000 0 500,000 0 0 500,000
4519 HISE33 500,000 0 500,000 0 0 500,000
o> S 20ta 2|
4600 ollHIbl 0 3,000 0 3,000 3,000 0
4610 oflg1bl 0 3,000 0 3,000 3,000 0
4611 olldl ] 0 3,000 0 3,000 3,000 0
SWINEE
1200 S X2k D EFAFA 0 1,590,000 0 1,590,000 1,625,000 235,000
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= & = (A) (B) (A - B)
1260 2|2 =g 0| 1,590,000 0| 1.590,000{ 1,625,000 35,000
1263 2o|H=I|BNE 0 530,000 0 530,000 560,000]  ~30,000
JI&D <YoAFIISHE>
-AS 2ota2dl 012 HE 500,000,000
-2A=013 201k 012 =g 30,000,000
1264 Qlo| MBI BNE 0 30,000 0 30,000 30,000 0
JI&lD <YoiEs)|2HE>
-&8I|32 201k D12 M 20,000,000
“HTALE &BEtg 239 g 10,000,000
1265 2OIE|XJ|2XE 0 10,000 0 10,000 15,000 A5,000
JlED <yolEEIISHY>
-ElXI|13 30IAHAE 10,000,000
1266 Qo|2FI|BNE 0| 1,000,000 0| 1.000,000{ 1,000,000 0
JI&D <Y gEI|ISHE>
-2&II3 H30INAEE 1,000,000,000
1267 A2IIEDI2HE 0 20,000 0 20,000 20,000 0
D& <UoDIEN|ISHE>
-0l 20l X 20,000,000
1300 DR XD XIZ 771,628| 1,200,000 o 1.971.,628 540,022| 1,431,606
1310 SE DI TAONE 771,628| 1,200,000 o 1.971.,628 540,022| 1,431,606
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1314 J1AH.J1=* OHH 519,793 0 0 519,793 249,640 270,153
R <AUFHSEI|AHIIFOHLH>
-2AHE PC @ 10CH+1,300,000& 13,000,000
-2 A2 ZLIE @ 50H+350,000& 1,750,000
-GtE 2ot (win78) : 45,000 »160CH 7,200,000
-NHEASA IHECIEHI] 204+500,000& 1,000,000
-NEASY ZEHI 1 1,300,000
HAX R -MAMASH S ALIXI DA 3CH*1,650,000& 4,950,000
=& =3 PCAl : 11CH*1,650,000& 18,150,000
MHECIRS -RtSAHE MSI1 10 1,430,000
A2CIRFE A& &3 FEf*4401%1,350,000& 59,400,000
-0t & 2 oh2tx440+45, 0002 1,980,000
-SSD  128G*44H1+100,000& 4,400,000
CIXNE0-A4&548 AU 10H*490,000& 490,000
HAZE:Z-Jtet B 4JH+500,000& 2,000,000
-4K It 2t 291+4,000,000& 8,000,000
-E2t0IZ S (&2TH) 29H+1,250,0004 2,500,000
ety -0tol1a22 ot 8EJ110H+9,075,000& 9,075,000
& & J1(2HP) 1CH*3,000,000& 3,000,000
-AJHAIS (£) 10H%700, 0002 700,000
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=2 [E] = 2t
2 S s (A) (B) (A -B)
FL2CI) -S A, AXICH(H)1CH*700,0002 700,000
-=SA 2, AU (2SE)10H+300,0002 300,000
-HAJ|(SL2)101+85,380& 85,380
CIXtI A e - AASA (2055) clloldZet=ele 10 1,782,000
-EHRASA(2058) ItEITI] 1T 495,000
-EHANASA(2058) AMH 1T 1,830,000
-EHoAMDASA(2178) ItERIHI] 1T 495,000
~HOYADLSH(2178) AHUH U 1,830,000
-HYADNLSH(2178) 2LUIH 1201+300,000 3,600,000
-HYADLSH(2178) M 1204+1,350,000 16,200,000
wRY  <WFEIAINF0HYHI>
-T2 AEE o 1504+3,200,000& 48,000,000
-SXWE ¢ 1004%5,000,000& 50,000,000
2 2e|i-ZetZelE 101+1,200,0002 1,200,000
-SHI2IE 10H+3,000,000& 3,000,000
HAX -2 B W@ 158+1,600,000& 24,000,000
SHIEH:Z-HIM, 420 1,700,000
WRY <AREBIAIIFOHHHI>
-2 AIH PC 2CH+1,300,00024 2,600,000
LA 2LIE 20H+350,0002 700,000
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-==3} PC WXl 42CH*1,300,000& 54,600,000
=3 ZLUIH WX : 37CH*300,000& 11,100,000
-2 ALX WH 5CH1,650,000 8,250,000
-EHOotAIAE 1= 65,000,000 65,000,000
-lp2tel E FIt=¢ :18,000,000& 18,000,000
1315 &J| HIZ YL 142,335 200,000 0 342,335 151,782 190,553

SOtNRI<ASAZIIHISHHLE>
-AE A 1,200,000
A=p) 272,000
~ABHE 201%57,000& 114,000
MECIR S -FEA HSE2X 16,5002 1004 1,650,000

DRI <ZJAFIIHISHLI>
—HI g AT 2,100,000
-NME A3gl 2101+500,000& 10,500,000
SR -Zoa M A wiH 20,000,000
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220 -ALSE Pl 691%297,000¥ 1,782,000
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—24 &+ 300,000 20K 6,000,000
-9 Xt 300,000 204 6,000,000
-2 Z 250,000 20K 5,000,000
“JIEFEDIHIE DHHI 10,000,000
-HIAEE 2AM IO 5,000,000
SATHI<AFHASSS/WOHLHI>
—Adobe CCT &2t2t0l4&lA 2001750, 000 15,000,000
CXE0<nES S/Noisl>
—Adobe |l lustrator CC:45JH%264,000& 11,880,000
—Adobe Premiere Pro CC:45J4+264,000% 11,880,000
CITHRI A ¢ -GHE 2 ok 2k 55,0003 * 1204 660,000
HE AL I<MRE S/WoH HI>
HAXRL-CIEZE Y E 2 15,000,000
2 QDIEEIILISH >
- =F ATEFO 3,000,000
-gd 2 0IEo Y 5,000,000
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-2L S 505+200,000& 10,000,000
1319 A& A 0| 1,000,000 0| 1,000,000 30,000 970,000
JI&l -8Y9Y elgd A5 80|, 48| 500,000,000
-S24E 22YE E+xYH, S S 500,000,000
7 ol® X= 239,669| 2,110,108 0| 2,349,777| 5,295,828 ~A2,946,051
A= NESA 21,602,200| 12,133,084 500,000 33,235,264| 37,143,504| 3,908,240
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